
Directions: Solve the word problems given below.

On James street, there are 4 post-boxes. Each post-boxe has 7 letters. How many 
letters are there altogether? 

There are 3 cookies. Each cookie has 7 chocolate chips on them. How many 
chocolate chips in total? 

Zain has seven tulips in his garden. Joe also has seven tulips in her garden. How 
many tulips are there altogether? 

Mum bought 4 jars of jelly beans. There are 7 jelly beans in each jar. 
How many jelly beans are there in total? 

_____ x _____ = _____ 

_____ x _____ = _____ 

_____ x _____ = _____ 

_____ x _____ = _____ 

7 Times Table


